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A &Llﬂ(‘h()ﬁ\ is any “rule” that assigns exactly one :‘PSXL\QQ (RANGE) for each X:g;!gg ,value
(DOMAIN). These rules can be expressed in different ways, the most common being equations, graphs, and

tables of values. We call the input variable independent and output variable dependent.
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Indicate whether each is a function or not a function. Then give the domain and range.
b () =43, 5), (7, 4), (6,4), (-3, 1), (-2, -2)}
Function? @ in= 43 - =2 - S
unction? \@ Domain (2 %i zl%i(a{f)rgRange %- Z;’/q.“:’ g
2. g(x) = {(,1, 3). (0.9, (10, 12), {1, 15}}
Function? _\\O  Domain = ?' O/ 1, 10% Range= 239, /Z,IS:X
y ~myx+0 ° ¢ ‘5
35 h(;(s =3x-7
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4. m(x) =

[ 122435867

Function? _\ €5 Domain = ééb,ob\, or IR Range= [0, OO\I

5. l’(X) = ™

A “ 1 1 : ¢ in z E2 1 a

Function? 3‘{& Domaln— - Whath Ml ¥ "IERange— f 3 Ny g?

\ Use the deﬁmtlons in problems 1- 5 to find these values: .’
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6. f(6) =_H 7. g(l) 3, 1S 8.h(5)=_38 9.h(a) =227 ~
3(5)-*F
0. m&=_1__ 1L r(—*l) - 3 12. znggO) q4m2()1) “eh o
13.1Ff00 = 4, thenx= o 14. 7 m(x) = g‘ thenx=_2; 0
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Answer:
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Note that f and f(x) are different: g

* [ s the name of the function (the “rule”).

e f(x) is the outputfrom this rule when the input is x.

_____________________________________________________ INPUT
L Iff(x) =3x—2,thenf(5) =3(5)—-2=_|P !
Function Rule:
Input Value | Output Value
X f(x)
3 \% Z "J
IMY-1= : e ,
4 -4 ‘ = =
3 7 Ix-1=F | OUTPUT:
Loz : ‘
o | = %% A | fe=_
3%-2: 1% X*5
TS
3x=30
)z 3
K=1Q s
Ex 2: f(x) (s} + 2%} 3.
Evaluate. Don't forget when you evaluate a function you must use parenthesis around the input when you
sub it in!
A. f(2) ' B. f(-2).
(2) *2(2)"> (-0)*+2(-2)-3
Yef -3 4 q-3
9 =5




Ex 3: f(x) = —%x)+ 4. Find:

?
A f(=7) B. f(a) C.f(a+2)
=2(-3) x4 ~2(a)+Y ST
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Let’s Practice!

s 8 2
X | f(x) = -4x -10 X [fx)=x*+5
0 —10 -4OY 10 7 < (AN
6 ~3‘-\ -L’(\p) ’lvb '5 30 (P(\'L*_(‘
9L -18 |8 105
- ~Un~lD= -’|8 41

Ay 1 = 19 > 10 ‘h&k\‘g ’HO% 7'*5_' = ‘05
+ 1 - - -
—31: 0 =-Y =L X2y =4l oBoe ey
Try This! Can you figure out the pattern to determine f(x)??? ’i -
<* =3b %= (o

3. 4. %= b
X [fO) = LXF\ x _[f)= X"-10
-2 -3 -3 -1
0 1 0 -10
1 3 4 6
5 11 10 90

Real Life-Application
Suppose Verizon Phone Company has a phone plan that consists of an activation fee of $25 and a monthly

rate of $80/month.

X

f(x) =

d) Did you choose any negative x values? Why or why not?

a) Write the function in the table as f(x).

b) Choose 4 inputs that make sense to this situation.

©) Now calculate the outputs to complete the table.

e) Would decimals make sense as input values in this situation?




